
 Danfoss A/S (RC-CMS), 01 - 2004                    RX5CA202                                                                                                                                                                              143

Spare parts and accessories Differential pressure controls, type MP 54, 55 and 55A

Description Code no. Code no.

Capillary tube, copper
1/4 in. or 6 mm fl are 

21 mm tube “tail” 0.5 m
0.75 m
1.0 m
1.5 m
2.0 m

Multi-
pack

060-0024
060-0046
060-0048
060-0049
060-0163

Industry 
pack

060-01901)

060-00751)

060-01911)

060-01921)

060-01931)

50 mm tube “tail” 0.5 m
0.75 m
1.0 m
1.5 m
2.25 m

060-0170
060-0047
060-0171
060-0172
060-0176

060-00701)

060-01951)

060-00712)

060-00721)

060-00763)

1/4 in. or 6 mm fl are with 
Schraeder valve opener

0.5 m
1.0 m
1.5 m

060-0021
060-0022
060-0023

060-00041)

060-00051)

060-00061)

Capillary tube, copper
1/4 in. fl are and M10 × 0.75 1.0 m 060-0020

Capillary tube, steel, 
not for NH3

Capillary tube, 
stainless steel 18/8
for NH3

G1/2 and G1/2

0.5 m
1.0 m
1.5 m

1.0 m

060-0166
060-0167
060-0168

060-0169

1) 50 pcs.
2) 40 pcs.
3) 25 pcs.

Description Qty Code no.

Wall bracket 
Bracket
Screw, M4 ×  5 
Washer

1
4
4

060-1055

Angle bracket
Bracket
Screw, M4 × 5
Washer

1
4
4

060-1056

Accessories for bracket
Screw, M4 × 5
Washer

4
4

060-0103

Solder nipple for G 3/8

Pos. 1 Union
2 Nipple, ID 8 mm / 

  OD 10 mm
3 Alu gasket

1
1

1

017-4368

Weld nipple for G 3/8

Pos. 1 Union
2 Nipple, OD 10 mm
3 Alu gasket

1
1                     
1

017-4229

Reducer
G 3/8 - 1/4 in. fl are     
Pos. 1 Reducer

2 Alu gasket
1
1           

017-4205

Alu gasket
for reducer and nipple  
Pos. 2 Alu gasket 2

060B1208

Cutting ring coupling
for 6 mm steel tube 1

060B1210


